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1. Choose the correct option from the following : (any five)
1x5=5

woTe Wl erTIRE Ad1 ww earo! Afk Sfedt 2 (Reizar #isbh)

(@ Which of the following is not a procedure oriented programming
(POP) language ?

woTe frarTRR oot (@ ableR SRErDe erafi w=ae
@ C

(i) C++

(iii) Fortran

(iv) Visual Basic

(b Which of the following is the correct method to include header file
in a C program ?

were fRAPRd oo (@M 8% o&fe C s (RO F1Re s IR
A2

(i) #include%stdio.h%
(i) S$include<stdio.h>
(iii) #include<stdio.h>

(iv) #include<iostream.h>
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(c Datatype of 12.34 is —
12.34 ©i51 5ie Tzt —

@) int
(i) char
(iii) float

(iv) void

(d 20/7 evaluates to —
20/7 IN I —

@ 2-85
(i) 2
(iii) 0-8
(iv) 8

() Class is a collection of data and
FRIIZEHI &F |
(i)  variable
bee
(i) constant
&P

(iii) function
FI=A

(iv) integer

3foER
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() Array is a
@R’ TR 9ot
(i) Data structure

ot BIRFEE

(ii Datatype
©io! BiRA
(iii) Algorithm
@ R
(iv) None of the above

@Fq o8 FZH

2 State whether the following sentences are true or false : (any five)
135=5
woe faal IR ©F (7 woa W@ A ¢ (RePrAr #ioh)

(3 Every C++ program must consist of a main() function.

ARTB Ct+ 2ATIS B! main() T AR A |

(b) Variable name may contain space.

Peiad A Wiere AT IW AT AR
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(¢ POP operation in stack is executed at rear end.

POP S#AITIGACH! (B3 fd 9@ (Rear end) ™M+ 341 2 |

(d) The quality of binding data and its associated functions together is
known as polymorphism.

Tio! W% FRZPNZ IFRESIR i I @4 IS (Polymorphism)
e o |

() Two variables in a single program cannot have same name.

ATAN IOTS Ko HePE AN TP T @RI |

() Keywords are also called as reserved words.

FREWT A@/we *= e R |

(@ “Welcome” is a string constant.

“Welcome” 22 90! 32 &35 |

3. Write brief answers to the following questions : (any five)
2x5=10

were faal FRe o3 Oek fiat ¢ (Reerear “lior)
(a) Define datastructure and algorithm.

Tt BIFEIR WiE GeifRfAN I QA2
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(b)

(©

(d)

(e)

®

What are the different types of instructions in C ?

C® JRF Q[ e 2o Rorpmg e 411

Define inheritance with an example.

IIPS 2R (Inheritance) FIF @It 2 Swizge izt |

Draw the flowchart for if-else statement.

if-else Rqfet F'5i0 S |

What is datatype ? List the datatypes in C++.
TioI-5iRe 2 C++ 1 RiSH Sibr-5i3oPrR S <411

What is the difference between an object and a class.

F WE SREI &1 ALy (e

What do you mean by LIFO and FIFO ?
LIFO &% FIFO qfefte1 & gant?

Differentiate between the following : (any three)

were fAat R A vt 2 (e A6

@

(b)

Variable and Constant

Bl HIF &F

2x3=6

Object-oriented programming and procedure oriented programming

SRIGS WRECS Al WiE 2l SREree Arafig
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(0 Relational operators and logical operators

Reevte w961 wis & f&rFe it

(d while and do-while loop.
while ¥I% do-while &#i |

Write a C program that accepts two numbers as input and displays the
values of the sum, product and average. 1x4=4

7o! 1 20 RRo1eet azel ok Fidea e, sRewe =i Afewi vl $RL
@5t C oire e

OR/ 7%t

Write the algorithm to insert an element in an array.

R TS TG eI F IR Gk ot B

29T IT/ITeS [7]



